Y3 — Autumn — Block 1 — Step 13 — Order numbers to 1,000 Answers

Question Answer

Tommy has the greatest number of marbles.

a) 250 130 290
b) 315 326 305

3 <) 718 712 710 716
d) 435 348 84

a) 405,412,429,718
b) 73,99, 200, 620
c) 95,509, 595, 1,000

any two of: 645, 646, 647, 648, 649, 650, 651

9g,32g,230g,302g,320¢g

The 3rd tallest person is Dani.

£279, £199, £195, £179

a) The first number could be 405, 415, 425, 435, 445, 455 or 465
If the first number is 465, the second number could be 466, 467, 468 or 469
If the first number is less than 465, the second number could have any number of
ones.
The third number could be 558, 658, 758, 858 or 958
b) The first number could be 465, 475, 485 or 495
If the first number is 465, the second number could be 464, 463, 462, 461 or 460
If the first number is more 465, the second number could have any number of ones.
The third number could be 458, 358, 258 or 158

0,1,2,3,40r5
056 < 703 < 750 (discussion could be had around the fact that we would not write ‘056’)
156<713< 751
256 <723 <752
356<733<753
456 <743 <754
556 < 753 <755
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